Phytosanitary Export Certification

OMB Control No. 0579-0052

PPQ 577	Phytosamary	Export Certification							0579-0052	
(A) (B) (C) (D) (E.1) (E.2) (F) (G) (H) PPQ 572 5730 5730 575.22 5.0 28.01 11 \$33.59 \$48.31,586 \$871,580 \$8,503,176 PPQ 577 \$79,222 5.50 28.9611 11 \$33.59 \$8,78.033 \$1,352,197 \$11,080,230 PPQ 578 3,737 0.03 112 11 \$33.59 \$37,803 \$1,352,197 \$11,080,230 PPQ 579 16,584 0.50 8.282 11 \$33.59 \$27,803 \$13,522,197 \$11,080,230 PPQ 579 16,584 0.50 8.282 11 \$33.59 \$27,803 \$13,522,197 \$11,080,230 PPQ 579 16,584 0.50 8.282 11 \$33.59 \$27,802 \$38,689 \$33,680 \$33,680 \$33,680 \$33,680 \$33,680 \$33,680 \$33,680 \$33,680 \$33,680 \$33,680 \$34,08	or Other			Per						Total Costs
PPQ 572					(B x C)	Grade (GS)	Avg. Hourly Rate	(D x (E.2))	(F x 0.139)	(F + G)
PPQ 577		(A)	(B)	(C)	(D)				(G)	(H)
PPQ 578			575,360	0.25	143,840	11	\$33.59		\$671,590	\$5,503,176
PPQ 578 3,737 0,03		PPQ 577	579,222	0.50	289,611	11	\$33.59	\$9,728,033	\$1,352,197	\$11,080,230
MOU for State Inspectors		PPQ 578	3,737	0.03	112	11	\$33.59	\$3,766		
Negotiate with NPPOs for Industry		PPQ 579	16,564	0.50	8,282	11	\$33.59	\$278,192	\$38,669	\$316,861
Sissued Certificates/Documentation		MOU for State Inspectors	10	140.00	1,400	11	\$33.59	\$47,026	\$6,537	\$53,563
Sissued Certificates/Documentation		Negotiate with NPPOs for Industry	2	4.00	8	14	\$56.57	\$453	\$63	\$515
Applying ISPM 15 mark (NA) 0 0.00 0 0 \$0.00 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$					0			\$0	\$0	\$0
0		MOU w/Industry	1	0.50	1	14	\$56.57	\$28	\$4	\$32
S		Applying ISPM 15 mark (NA)	0	0.00	0	0	\$0.00	\$0	\$0	\$0
Section Sect					0			\$0	\$0	\$0
Second					0			\$0	\$0	\$0
Solution					0			\$0	\$0	\$0
Solution					0			\$0	\$0	\$0
0					0			\$0	\$0	
0					0			\$0	\$0	\$0
Solution					0			\$0	\$0	\$0
0					0			\$0	\$0	\$0
9 50 </td <td></td> <td></td> <td></td> <td></td> <td>0</td> <td></td> <td></td> <td>\$0</td> <td>\$0</td> <td>\$0</td>					0			\$0	\$0	\$0
Solution					0			\$0	\$0	\$0
0 \$0 </td <td></td> <td></td> <td></td> <td></td> <td>0</td> <td></td> <td></td> <td>\$0</td> <td>\$0</td> <td>\$0</td>					0			\$0	\$0	\$0
0 \$0 </td <td></td> <td></td> <td></td> <td></td> <td>0</td> <td></td> <td></td> <td>\$0</td> <td>\$0</td> <td>\$0</td>					0			\$0	\$0	\$0
0 \$0 </td <td></td> <td></td> <td></td> <td></td> <td>0</td> <td></td> <td></td> <td>\$0</td> <td>\$0</td> <td>\$0</td>					0			\$0	\$0	\$0
0 \$0					0			\$0	\$0	\$0
0 \$0					0			\$0	\$0	\$0
0 50 50 50 0 50 <td></td> <td></td> <td></td> <td></td> <td>0</td> <td></td> <td></td> <td>\$0</td> <td>\$0</td> <td></td>					0			\$0	\$0	
0 \$0 </td <td></td> <td></td> <td></td> <td></td> <td>0</td> <td></td> <td></td> <td>\$0</td> <td>\$0</td> <td>\$0</td>					0			\$0	\$0	\$0
0 \$0 </td <td></td> <td></td> <td></td> <td></td> <td>0</td> <td></td> <td></td> <td>\$0</td> <td>\$0</td> <td></td>					0			\$0	\$0	
0 \$0 </td <td></td> <td></td> <td></td> <td></td> <td>0</td> <td></td> <td></td> <td>\$0</td> <td>\$0</td> <td>\$0</td>					0			\$0	\$0	\$0
0 \$0 </td <td></td> <td></td> <td></td> <td></td> <td>0</td> <td></td> <td></td> <td>\$0</td> <td>\$0</td> <td>\$0</td>					0			\$0	\$0	\$0
0 \$0 </td <td></td> <td></td> <td></td> <td></td> <td>0</td> <td></td> <td></td> <td>\$0</td> <td>\$0</td> <td>\$0</td>					0			\$0	\$0	\$0
0 \$0 \$0					0			\$0	\$0	\$0
					0			\$0	\$0	\$0
Totals \$14,889,084 \$2,069,583 \$16,958,667					0			\$0	\$0	\$0
	Totals				443,254			\$14,889,084	\$2,069,583	\$16,958,667

Estimated Annual Program Costs for Collecting, Processing, Analyzing, Tabulating and/or Publishing the Information Collected (Do NOT include administrative costs such as printing and mailing of forms, etc.)

Phytosanitary Export Certification

OMB Control No. 0579-0052

Form No. or Other Identification		Avg. Time Per Responses	Total Hours Per Year		Involved in the on Collection*	Program Costs	Overhead Costs	Total Costs
			(B x C)	Grade (GS)	Avg. Hourly Rate	(D x (E.2))	(F x 0.139)	(F + G)
(A)		(C)	(D)	(E.1)	(E.2)	(F)	(G)	(H)

APHIS FORM 79

^{*}Includes field and headqarters personnel.

Remarks (l)

_